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Questions? I'm about to open up Test 1 Re-Take.
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43.  + 0/ points LarTrig10 2.3.089. [3882829]

A weight is oscillating on the end of a spring (see figure). The displacement from equilibrium of the weight relative to the

point of equilibrium is given by seT’O — COS(%) —\ s (5&) =0
y = 1_12(cos(sr} - 4sin(8t)) =

where y is the displacement (in meters) and ¢ is the time (in seconds). Find the times when the weight is at the point of
equilibrium (y = 0) for 0 £ t £ 1. (Enter your answers as a comma-separated list. Round your answers to two decimal
places.)
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